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XNREDN—RATA 5

n=293

2% (%) 74(82%) 142(70%) 0.03%
F fn(m%) 76.8+6.5 74.7+52 0.003
5m#{TRF R (s) 3.2+1.3 3.0+1.2 NS
TUG(s) 7.6+2.1 6.9+25 0.02
FRT(cm) 30.6 30.7 NS
CS-30([=]) 14.2+8.4 15.549.2 NS
R R A WIRE L (%) 36.2+14.2 38.8+13.0 NS
¥ BE LRI E (cm) 14.2+8.4 15.5+9.2 NS
b = %k 1 (2/min) 258.7+108.4 272.9+123.1 NS
O /ZEATHE (kg) 8.8+4.0 9.6+3.8 NS

Student’ s #test, XFisher’ s exact test



NRBDN—RATA U FEGES)

n=293
JEST AR
(n=90)

AR = OB R EFE(cm?) 21+1.2 22419 NS
FERE D ENEE IR (cm?) 3.2+23 3.6+29 NS
FER =D ENEEE (cm/s) 1.6+0.7 1.6+0.8 NS
FAER =D ENEEE (cm/s) 23+1.3 24412 NS
O ARG 3R 1.7%1.0 1.8+1.0 NS
HEDILMY(R) 86.4+21.8 96.3+21.7 <0.001
BRAE R R R () 35.6+4.8 35.7+4.9 NS
ANED DAY () 16.8+5.3 17.5+5.8 NS
i 1T ol REEE B (b R {E) 6(5-6) 6(5-6) NS
BR B F A 2 (%) 28 24 NS*2

Student’ s ttest, X'Mann—Whitney U test, *2Fisher’ s exact test,
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IR LB : I+ A BE

n=137

RAE v W.N:[] AR P{E hREW)
5mZ> 1T B fEl (s) 3.0£0.9 2.8+0.7 <0.00 0.2
TUG(s) 6.8+2.1 6.5+1.7 <0.00 0.2
FRT(cm) 32.1+7.7 32.4+6.9 <0.00 0.04
30F03L5H LAY ([E) 17.6£5.3 19.6+5.6 <0.00 0.4
R R AR NIRE L (%) 38.6+125 4124105 <0.00 0.2
& EERLRITE (cm) 14.9+9.4 17.4%+10.0 <0.00 0.3
1%k 3(2/min) 270+120 320140 <0.00 0.4
O EFAEE(ke) 9.7+40 9.1+4.2 NS NA

E: FHELIZELERE NS: Not significant, NA: Not applicable



HIRELER : /T ABF(HLE)

n=137
7 E {G))

FERE /D EfEEE(cm?) 2.3+2.1 22+18 NS

FIRE /D EfEEE(cm?) 3.7+3.1 3.2+22 0.01 0.2
FHEIRE DB EE (cm/s) 1.5+0.7 1.7%0.9 0.01

FERE D ENEEE (cm/s) 24+13 22411 <0.00 0.2
HSEDILHIY (R 96.3+214  97.2+21.1 NS

A EDDIEHL) ()2 17.1£6.0 17.2+6.2 NS

BB R R R () 35.6+5.1 35.9+4.5 NS

BR {3 FE A4 3 (%) 26% 12% <0.00

E: FHELBRERE 12050 R, *2 300K, " 400E R
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n=58

®AE Ik B P{E R E)
5mZ> 1T Bl (s) 3.1+0.8 3.0+0.9 NS
TUG(s) 7.1+20 7.2+16 NS
FRT(cm) 32.8+85 31.4+9.6 NS
30FP3L s EAYY(ED) 18.7+6.8 18.6+6.4 NS
R A SR E LE(%) 35.9+15.0 36.2+14.3 NS
¥ EE L AT JE (cm) 13.9+8.6 14.5+10.0 NS
1%k 3(2/min) 251.3+107.4 264.2+1123 NS
O EEAHE (ke) 9.3+3.9 94+33 NS




RIRELER : SE T AR (T S)

®E Ik -4 S PlE MREW)
FHERE D EfEEE(cm?) 2.0+1.0 1.7+0.9 0.04 0.32
FAIRE D EIFEETE(cm?) 3.0+18 3.3+25 NS

FEIRE DB ERE (cm/s) 1.5+0.5 1.5+0.7 NS

FERE D ENEEE (cm/s) 2.2+1.1 2.2+1.2 NS

O AR LT & 1.7+1.1 2.0+1.2 NS
HEDILMY (R 89.7+233  92.3%26.2 NS

A EDDIEHL) ()2 17.1£5.9 16.8+6.0 NS

BR B R R R (RS 36.2+45 35.9+6.3 NS

BB 5 A 22(%) 27.2 18.2 NS




ST AEEEFEIT AR D BEE ELER

(ZEE A DLEEED)
PREW)
A SmZF1TEFfE(s)% 0.08+0.74 0.13+0.52 NS
A TUG(s)* -0.16+1.34  0.25+1.03 0.02 0.37
AFRT(cm) -1.3%+75 -3.0+12.9 NS
A 30Fb 35 EAYY([E]) -0.1£4.6 20£3.8 0.002 0.50
A RR1ER R Hh DIRE EE(%) -0.2+15 3.0+9.3 0.03 0.40
A B EEGLATE (cm) 0.6%5.8 2.8+6.8 0.04 0.35
A Bk 33(2/min) 129+838  50.6+98.4 0.03 0.41
A OEFAHEE ke 0.1£3.2 0.6£4.7 NS

A: NARFERISERIEEN—RATAUEDE, IRN—AFAUEN LT ARF(F
REZBLTREEH



ST AR EFEIT AR D BEME LEB (T E)

ITAH PiE IRE)

AFBREDEEERES 0.3=+1.1 0.1+1.3 NS
AFRBREDEEERES -0.3+1.2 05+24 0.04 0.42
AFBREDEEREX 0.1+0.5 -0.2+0.7 NS
AFARREDEIEREX 0.02+0.62 0.2+0.9 NS
ABIR)LY EFX -04=+15 0.03+1.62 NS
AEFDILMNY 26+215 3.7+354 NS
ANEDDIEHY -0.3£5.2 -0.1£5.7 NS

A BRfB| it % -0.3%+5.3 -0.1+5.6 NS

BLfB| S A R 18% 12% NS ARR11.1%

A: R ABRFERBMEENA—RFAUBEDE, *N—RF(UEMN LT AERF]:
[FEAEMEZHMETHE LM, ARRIEX )RR
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